HPC

R 18

T 5 B2 BAWHMHE /min BeasEs| BEREmin’ | 58
cm?/rev| 1000min~" | 1200min™" | 1500min~" | 1800min™" bar Min Max | kg
P08-A*—F-R-01 8.0 8.0 9.6 12.0 14.4 300 2000 9
P16-Ax—F-R-01 | 16.5 16.5 19.8 24.7 29.7 300 | 2000 | 13
P22-Ax-F-R-01 | 22.0 22.0 26.4 33.0 39.6 255 300 | 2000 | 13
P36—-A*—F-R-01 36.0 36.0 43.2 54.0 64.8 300 2000 24
P46-A*x-F-R-01 | 46.0 46.0 55.2 69.0 82.8 300 | 2000 | 24
P70-A*-F-R-01 | 70.0 70.0 84.0 105.0 | 126.0 S5 300 | 1800 | 43
P100-A*—F-R-01| 100.0 | 100.0 | 120.0 150.0 | 180.0 300 | 1800 | 62
| Boh R
B EEREA
P16 -A3 -F -R (-S) -01
OERBHERM A * : BAREEEIR 27 4t F L’ - P
BRI A B (cm?/rev) B ERE EERER | pmime o0 BT R ER
P08 (8.0) K Fiuz{- 1228
P16 (16.5) A0 : 15~45 bar e, | RitE (Fe 35 288)
A1:20~75 bar |FiARRER P | o e
P22 (22.0) A2:25~145 bar | L:KWEZED | L. x5 ' B - ST
P36 (36.0) A3 : 30~215 bar (%) P16
P22
Fao Weg P36 - SAE-13T
P70 (70.0) A2 :25~145 bar | F:zmzsmn | R:AM P46
A3 :30~215 bar , (=%) P70 - SAE-14T
P100 (100.0) A4 : 30~286 bar o L : smass P100 - SAE-17T
P08-Ax-F-R-TYPE
163.5 49 ENREE 0
6
32_| 4
3&3 +0.01
Key 4.76 -0.01
=N 3
Al s oI
Y = g o { -
Ky = 8
L : 3
y g . [N
11 8 8
126 09| o5 106.4
149.5 g « e LL \mAD
o & PT 1/2" 120 PT 1/2"
sk A RACH e e n s
SERITH, N To— FREARRGEE(L)EERQNELR%
EYTaR| | crmamzess :
3 8
= £ [ le®
A
0 w I swauwm
) v v v Ty
BAO 25 10 15 mm
32 PT1/2"

MEBHBEHRE Lmm




B2 73 4 {55 #2= W1 B2 HPC

P16/P22-A%-F-R-TYPE

188 49 .-
. AEma
B R
w0 TREE 44
PT 3/8"
e R % 8
= "_——H-ll 32 4 R\ (5
St oA +0.01
i L s Key 4.76 -0.01 \\‘ﬂ \\
—_I
° B © Ol =
o 9 f — / 8 o ¢ W’N oY
© ~—
:S Y v = g' T D fan ¢
iy i ; SO
9|0 %y, — ® D j 5
A 1 &l w
22,9 \4-M10X16 13 S N 106.4
153 “5|°% M/ ,‘ = \M ”
180 ol & SAEJ518b-3/4 SAEJ518b-1
(o] (aV]
4 % MERRBRHEE(L)ESSE(qMELRE
16 &2 8 D WAOR | FABEZEE 25
SAE A J744 (REFEIE) - {
9T 16/32 DP 22 |- Y
20 <
o > O ot
L 2 168 B oo AU AT ol
8 A = 15 g X, A P
o9 N g — */?
= 3 x| - B &P
[4Y] [eV] (o2 l=
& X WL
(DQ,D‘ } (L {<¢[ ;___/ﬁ%%ﬁgéﬁ
\ '\ s 1 h T N | 1
32 26.2 4-M10X16 B 10 18 19mm
MERRZESHERE Lmm
P36/P46-Ax-F-R-TYPE
238 60 )
— BHERS =il
p s M}
6
i AR R R A @_ - 4 ot
+0.01
Key 6.35 -0.01
° _ 0 @ @ 0|
T o ": 9
o o) |\ = o ﬁ \ S
N T | ~
|| Rt =
N | o -] - ()
13 s ] I/
O €? % 3
S J o6
26.2 \a-M10x16 15 = &
o
12 g7 B0 = BAD
222 ol & SAEJ5180-1" 170 SAEJ5180-1 1/4"
N
16 52 8 O o i e " .
—— BA L | mEEmER MERREHEE(L)AEE(QRELRH%Z
——r 50
137 16/32 DP (BB pooy =S I
- &
] 40 X
/ 0 = 36 |- & 3?:/
3 il o - X
°Z D0 T 3 Q/;I/?‘
= 3 |- //P**
E . - oA
/ 2 20 p==== t
S o | @ . L wmuzam
10_I\Hl|t\l‘Jl\I\
5 10 15 20 23mm
41 30.2 4-M10X16 REFBBHEE Lmm




HPC B ) % {8 42 | Y

P70-Ax-F-R-TYPE

305 85
EmEESIEA, b p:: ]} BB 4% EWO
[r— [ PT1/4" PT 3/4" g
(RREHE)
50 | 5
®
+0.01 €B 00‘.‘
Key 7.94 -0.01 org g .
't*: (-] 6 ey \ /@ @\ 3
i j \
o o N o ® ﬁ &) "
[=] o
FEEER 'l B T = . -
- 2 N & i//
D | © g
I o L% @ g
C
\\\ al o \@ @/ \
202 \ 4-M10X16 . JR= PR o
223 Q8 s o 7 | BAD H
8 SAEJ518b-1 1/4 SAEJ518b—1 1/2
o ™
76 82 8 WA CH FEAREGHEE(L)EERQRENE
| REEREE 6
SAE C 14T (ERARELR) ¥
12/24 DP 70
/ u - @
> E */Q/
= @ 60 N
[ = - s
= ] £ R
1] O 50
o o o -
g -
= W 40 —
O—4 el & 1 HEREH
56 \ 4-M12X18 30 Lt R | I [ L1

[}
=]
o

20 24 mm

MEBRRBHEE Lmm
P100-A%-F-R-TYPE

EIREESB pab::]m| BIIRE R4 P3|

BT [ PT1/4 PT 3/4" 8
(BRER) é . l/ -
64 5 ﬁ: Ky
m +0.01 D <
Key 9.53-0.01 - | —

o
o
n
o

- 2
RN e @ 2
B o o . . ® K @| |
= )
o) ARy ouT ° °J / G
3 \/ o J
o ¢
usak ¥ ® o |
\ = :
35.7 C b é @ @ Z R
\-waxe - o9| °3] —
257 o o [ase] ] : BAL
ol o SAEJ518b-1 1/2' 202 SAEJ518b- 2"
T 8 8 0 BAOR
SAE CC 17T | pEEuEE TR EE(L)EER QLM%
e (RERERL) 10 -
] E
rJ 100
li=s = 7 2
2 | e E W
TN /®_ @Y § sof 5>
3 (>l = =
= 2 T of
I L
] SN @ i @E FEBRREGE
- \ [
I 62 J 50 1 L il L L 1 I 1 1 L
\M s

2.9 FEBHREHEE Lmm




